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01 take turns 05 MSHE| EMX
02 give in 06 <loj7t Ssict
03 grow up 07 (~2f) 2z

04 prior to 08 =A|, 2%l
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<B7|> wash away turn to come out of be worried about
09 The pilot his first flight.

T HIY7| 2B A= XHH2| A HIMo CisH 21 ERACT
10 The rabbit the hole.

EN7E 3 YoM LEZC.

11 1 exercise when I'm stressed.

12 the dirt with water.
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13 The student wants being a doctor in the future. -

T Sh2 Dj2Hofl QAL EI7IE JetLt.

14 | listen all kinds of music. e
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15 Ren might not come in no time for class. -
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16 To get the book, | had to Tony
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17 You can if you fall.
Ttof HOIX|H L= Cr2l7t R2{& 4= UL

18 This sci-fi movie is amazing
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Laptop A Laptop B
weight 1.2kg 1.2kg
price $800 $700

Hello,

We’ve found two laptops that match your request, and we would like to
recommend Laptop B. Speaking of weight, Laptop Ais 19

Laptop B, but Laptop B is $100 cheaper than Laptop A. If you want to order it
now, please reply back to me 20

Lincoln Electronics

19 (light)
20 (soon, possible)
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01 X2 oict, WCHZ SICH 02 HEsict 2E6ICH 03 X[2ICH, HZSICH 04 ~0ff QA ~ECH 0|0 05 from beginning to end
06 make sense 07 each of 08 in notime 09 was worried about 10 came out of 11turnto 12 Wash away 13 being - to be
14 listen — listen to 15 in no time — intime 16 ask, a favor 17 break your leg 18 in many ways 19 as light as 20 as soon as possible
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